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§ 2. Statsvirksomhederne. o

' 5 . PL  TB .

Nettotal . ... .. SOTTTTTTTTy STTTTRTTT 726.198.700  339.981.000  309.873.200
Driftsudgifter ......... ...l P 3.701.329.900 . 339.857.500 301.573.500
Tilskud (driftsbudget)......ooviiitn Qe 22.717.800 123.500 - 1.860.900
Indiegter (driftsbudget) ................. .. 3.606.444.500 — 108.217.900
Anlegsudgifter....... e 801.892.000 — - .83.798.300
Ejendomserhvervelser m. v................. 25.912.700 — 36.543.500
L0 ) -3 PP — — 274.000
Kob af veerdipapirer ......... ... .o 3.000.000 — = 2.358.300
— = 121.000

Kapitalindtegter . .. ........c..ooooiiiiinns 222.209.200 .



